Division par Puissances de Dix (I)

Trouvez chaque quotient.

35+0,1= 84 +0,1=
38 +0,01= 83 + 0,001 =
89 - 0,001 = 45+ 0,1 =
53+0,1= 85+0,01=
84 +- 0,001 = 90 + 0,1 =
20 +0,01 = 84 + 0,01 =
54+ 0,01 = 34 +0,1=
24 - 0,001 = 2+0,001=
42 - 0,01 = 75 +0,01 =
52 +0,001 = 87 +~ 0,001 =
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Division par Puissances de Dix (I) Solutions

Trouvez chaque quotient.

35+0,1 =350 84 + 0,1 =840

38 +0,01 =3800 83 + 0,001 =83 000
89 + 0,001 =89 000 45 + 0,1 =450
53+0,1=530 85-+0,01 =8500
84 <+ 0,001 =84 000 90 - 0,1 =900
20-+0,01=2000 84+ 0,01 =8400
54 + 0,01 =5400 34+ 0,1 =340

24+ 0,001 =24 000 2-+0,001=2000
42 +- 0,01 =4 200 75+0,01=7500
52+ 0,001 =52000 87+ 0,001 =87 000
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